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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Write an essay on the structure of Indian Economy.  

Hkkjrh; vFkZO;oLFkk dh lajpuk ij ,d fucU/k fyf[k,A  

2. Discuss the unemployment problem of India. What 

measures are taken by the government to solve this 

problem ?  

Hkkjr esa csjkstxkjh dh leL;k dk foospu dhft,A bl 

leL;k ds lek/kku ds fy, ljdkj us D;k mik; fd;s gSa \ 

3. Explain the significance of small scale industries in 

Indian Economy and point out the major problems 

faced by these industries.  

Hkkjrh; vFkZO;oLFkk esa y?kq m|ksxksa ds egRo dh O;k[;k 

dhft,A bu m|ksxksa dh izeq[k leL;kvksa dk mYys[k dhft,A  

4. Explain the concept of liberalisation and globalisation. 

Discuss their advantages and disadvantages.  

mnkjhdj.k rFkk oS’ohdj.k dh vo/kkj.kksa dks le>kb,A 

buds ykHk o gkfu crkb,A  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Balance of Trade and Balance of Payment. 

O;kikj larqyu ,oa Hkqxrku larqyuA 

2. Forest Resources of India.  

Hkkjr ds ou lalk/kuA  

3. Public Distribution System.  

lkoZtfud forj.k iz.kkyhA  

4. The National Population Policy.  

jk‛Vªh; tula[;k uhfrA  

5. Role of Agriculture in Indian Economy.  

Hkkjrh; vFkZO;oLFkk esa d`f‛k dh HkwfedkA  

6. Defects in the agricultural marketing system.  

d`f‛k foi.ku O;oLFkk ds nks‛kA  

7. Multinational Corporations.   

cgqjk‛Vªh; fuxeA  

8. Role of Public Sector in Indian Economy.  

Hkkjrh; vFkZO;oLFkk esa lkoZtfud {ks= dh HkwfedkA 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu‛B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu‛B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or  

False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. The share of agriculture is decreasing in national 

income of India.  (True/False) 

d`f‛k dk ;ksxnku Hkkjr dh jk‛Vªh; vk; esa de gksrk tk jgk 

gSA    ¼lR;@vlR;½ 

2. Second five year plan was related to heavy 

industrialization. (True/False)  

nwljh iapo‛khZ; ;kstuk Hkkjh vkS|ksxhdj.k ls lEcfU/kr FkhA  

    ¼lR;@vlR;½ 

3. Banking belongs to primary sector. (True/False) 

cSaÇdx izkFkfed {ks= ls lEcfU/kr gSA  ¼lR;@vlR;½ 

4. Disguised unemployment exists in Rural Sector in 

India.  

(True/False) 
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vn`’; csjkstxkjh Hkkjr esa xzkeh.k {ks= esa ik;h tkrh gSA  

    ¼lR;@vlR;½ 

5. Indian‟s New Industrial Policy was announced in 1992. 

(True/False) 

Hkkjr dh ubZ vkS|ksfxdh uhfr 1992 eas ?kksf‛kr dh xbZA  

    ¼lR;@vlR;½ 

Choose the correct alternative : 

lgh fodYi pqfu, % 

6. Which of the following state is the highest rank on 

Human Development Index (HDI) ? 

(a) Punjab  

(b) Kerala  

(c) Maharashtra  

(d) Tamil Nadu  

ekuo fodkl lwpdkad ds n`f‛Vdks.k ls Hkkjr esa dkSu&lk 

jkT; izFke LFkku ij gS \ 

¼v½ iatkc  

¼c½ dsjy  

¼l½ egkjk‛Vª 

¼n½ rfeyukMq 

7. NABARD was established in :  

(a) 1982 

(b) 1983 

(c) 1984 

(d) 1981 
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ukckMZ dh LFkkiuk gqbZ Fkh % 

¼v½ 1982 esa 

¼c½ 1983 esa 

¼l½ 1984 esa 

¼n½ 1981 esa 

8. After Economic Liberalization in India the private 

sector has :  

(a) Expanded  

(b) Reduced  

(c) Remained constant  

(d) None of the above  

Hkkjr eas vkfFkZd mnkjhdj.k ds QyLo:i futh {ks= % 

¼v½ dk foLrkj gqvk  

¼c½ ?kVk gS 

¼l½ fLFkj jgk  

¼n½ mi;qZDr eas ls dksbZ ugha  

9. What is the minimum calories intake limit for 

assessing poverty in rural areas in India ? 

(a) 2000 calories  

(b) 2100 calories 

(c) 2300 calories 

(d) 2400 calories 
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xzkeh.k Hkkjr esa fu/kZurk dh x.kuk ds fy, U;wure dSyksjh 

miHkksx lhek gS % 

¼v½ 2000 dSyksjh 

¼c½ 2100 dSyksjh 

¼l½ 2300 dSyksjh 

¼n½ 2400 dSyksjh 

10. Which sector constitutes the maximum share in 

National Income of India ?  

(a) Primary   

(b) Secondary  

(c) Tertiary 

(d) All of the above have equal share  

Hkkjrh; jk‛Vªh; vk; esa fuEufyf[kr esa ls fdl {ks= dk 

lokZf/kd ;ksxnku gS \ 

¼v½ izkFkfed 

¼c½ f}rh;d 

¼l½ r`rh;d  

¼n½ rhuksa dk ;ksxnku leku gS  
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